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PART ONE: TESTS (1-80)
Test 1

1 - candeny the strange 2 3
the death of John F. Kennedy and Abraham Lincoln. For

example, Kennedy was 4 in 1960, 5___ Lin-

coln assumed the ___ 6 in 1860. Both men were 7
___from ___8___,ona Friday, and in the.___ 9

of their wives: The two men were born __ 10 one
hundred years 1, 12 were. their assas-
sins!!, Lee Harvey Osward and John Wilkes Booth. Perhaps

13 _ __ coincidence is that Kennedy’s secretary,

14 name was Lincoln, 15 _; him not to go to
Dallas where he was 16 __ . Lincoln’s ____ 17 ____,

whose name was Kenned.};, advised him not to go to the
Ford Theater ____ 18 he 19 his 20

1. a. much’ b. little
c. some d. few
2. a. incident b. accidents
¢. coincidences d. incidents
3. a.in b. to
c. about d. of
4. a. killed b. born
c. elected d. dismissed
5. a. but b. while
d. or

¢. however
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19.a. committed b. met

c. lost d. declared
20.a. death b. wife

c. cause d. presidency



Test 2

Foreign cars are often ___1____ to own in the United
States than -~ 2 cars. For _ 3 . thing, foreign
cars ___ 4___ more to buy. Of course, there are reasons
for this. The quality of workman-ship that goes into ___ 5
___themis very __ 6_ . Then high tariffs!"} on many
foreign models have ___ 7 prices. ____ 8__ _ , foreign
cars often. cost more to'register’”. 9 |, insurance _
_10____ can be higher. Moreover, ____11____ costs are
much greater than they are'___12___ American cars.

13___, there are some financial ___ 14 to 15___a

foreign car. First, many of thém get better gas mileage, and
they need new tires ___16___ than American cars ____17
. 'Second, their resale value is higher. The prices of a
year-old foreign car may be only $ 300 less than ___ 18
itcost ___19__ . But the price for a year-old American
car will be around $1000 ___ 20____

1. a. more difficult . b.. easier
c. cheakper d. more expensive
2. a. American-made b. America made
¢. American made d. America-made
3. a. a b. one
c. f.irst d. such’
4. a. pay b. cost
¢. spend d. take
5. a. do b. doing



| 3

c. make
6. a. low
¢. poor
7. a. caused
_c. raised
8. a. Although
c¢. However
9. a. But
~ ¢. However
10. a. rates
c. rent
11.a. part and repair -
c. part and repairs
12.a. into
c. in
13. a. Furthermore
¢. Although
14. a. privileges
c. advantages
15.a. owning
c. own to
16. a. less often
c. fewer often
17.a. are
c. do
18. a. which
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Test 3

Possibly the most significant researchnow 1 is
the use of the laser beam in telephone communications. This
“new lights”, ___ 2 produced by scientists in 1960, can

-3 4 and with extraordinary intensity.

5____ using light to see by telephone researchers are think-
ing of ways to use light to communicate’ 6__.In 7

____words, they are thinking of using light for the same _
_ 8 radio waves are now used--to __ 9 telephone
calls, television programs, and data messages from one
point to 10 . 11 the expansion of pieture-

phone service and high speed data communications between
computers, present message-carrying' 12 may soon
become inadequate. If it turns ___13___ to be technically
and economically __ 14, the laser might be proved to

- be a ___ 15__ __ breakthrough in telephone communica-

tions.
Current research in telephone communications is so ex-
tensive and changes are coming about ____16____ rapidly

that __ 17 can predict with accutacy ___18____ the
telephone of tomaorrow will 19 . But there is at
20 ____ one prediction that can be made with assurance,

There will be more and more telephones in the future,and
they will be better ones.
1. a. conducting ' b. being conducted
c. having conducted d.. conducted
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| Test 4 .
Everyone has his own way of relaxing. Perhaps the
most popular wayisto ___1____ in sports. There are __
2 __ __ sports, such as baseball, basketball and football.
There are ___3____ sports, also, such as golf and swim-
ming. In addition, hiking, fishing, skiing, and mountain
climbing have e great ___ 4____for people who like to be __
5

____6____ everyone who enjoys sporting events likes to
participate in them. Many people 7 tobe 8
__» either by attending the games ___9____ person, watch-
ing them on television, or listening to them 10 the
radio. When there is an important baseball game or boxing
match it is almost ___ 11 __ _ to ger tickets; everybody
wantsto 12

Chess, card-playing, and dancing are forms of ___ 13
____vecreation ___14___ by many people.

It doesn't 15 whether we play a fast game of
ping-pong concentrate ____16___ the bridge table, Y
____ go walking through the ____ 18 ona _ 19
autumn afternoon. It is important for everyone to 20
__ from time to time and enjoy some form of recreation.

1. a. participate . b. take

c. go d. interest

2. a. mass b. team

c. ball d. game
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